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1.2.

1.2.1.
JR
3 5 1
40 47 9 51 9
60 6
3
;
262
1.1 -1.2 707
-1.1
mm
S42 7 6 9 25.0 192.5 (78) (2523) (2601)
S47 9 8 9 43.0 136.5 (185) (2987) (3172)
S50 8 17 18 18.5 108.5 (43) (636) (679)
90 1484 1574
S51 9 8 12 16.5 462.0 (226) (4386) (4612)
S54 6 26 30 23.0 285.5 - (162) (162)
60 60
S55 7 10 11 15.5 107.0 - (160) (160)
S55 8 28 31 28.0 169.0 ) (698) (700)
52 714 766
S60 6 22 25 16.5 2155 (300) (1656) (2056)
H7 7 2 6 9 41.0 258.0 3 259 262
H9O 7 12 13 ? 23.0 85.0 - 85 85
60
7 7 26
9 7 12 13 (7713 14)
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51ha
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2 13 182 BOD
2 3 10.0
11.0mg/l
13 4.0mg/l 182
3.3mg/l
BOD -1.3
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HWL

13.5m

330.0 m

5.3 km2

88,000 m?

591,000 m3

5.0m

1

13.5m
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®3)

JR 1,650m
115m3/s 2 80m3/s JR
70m3/s
-3.4(1) (3)
2 JR
4—
115 80 80 70

m3/s
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